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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 10 questions.

(it)  All questions are compulsory.

(iti) This question paper is divided into five sections — Section A, B, C, D and E.

(iv) Section A — Questions no. 1 to 3 are Very Short-answer Type Questions,
carrying 2 marks each.

(v)  Section B — Question no. 4 is Source-based Question, carrying 3 marks.

(vi) Section C — Questions no. 5 and 6 are Short-answer Type Questions, carrying
3 marks each.

(vii) Section D — Questions no. 7 to 9 are Long-answer Type Questions, carrying
5 marks each.

(viii) Section E — Question no. 10 is Map-based Question, carrying 5 marks.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in some questions. Only one of the choices in such questions
has to be attempted.

SECTION A
(Very Short-answer Type Questions)

Attempt all questions. 3x2=6
1. How do secondary activities add value to natural resources ? Explain. 2
2. (a) How does transport affect tourism ? Explain. 2
OR

(b)  How does the economy attract tourists ? Explain. 2
3. Explain any two characteristics of water transport in India. 1+1=2
[E]#[s]
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(@) “9Ra # 3E ¥R fafve TR & wewqul qiest 91 @1 8 17 39 %o
i gz I | 3
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SECTION B
(Source-based Question) 3x1=3
Read the following source and answer the questions that follow :
High Technology Industry
Neatly spaced, low, modern, dispersed, office-plant-lab buildings rather
than massive assembly structures, factories and storage areas mark the
high-tech industrial landscape. Planned business parks for high-tech
start-ups have become part of regional and local development schemes.
High-tech industries which are regionally concentrated, self-sustained
and highly specialised are called technopolies. The Silicon Valley near
San Francisco and Silicon Forest near Seattle are examples of
technopolies.
(4.1) What is marked as the ‘high-tech industrial landscape’ ? 1
(4.2) What has become a part of ‘regional and local development
schemes’ ? 1
] I3 . ’ 1 1
(4.3) Write any two examples of ‘technopolies’. 3 +§ =1
SECTION C
(Short-answer Type Questions) 2x3=6
“Urban marketing centres have more widely specialised urban services.”
Support the statement with examples. 3x1=3
(a)  “Construction of Konkan Railway is one of the important
achievements of Indian Railways.” Support the statement. 3
OR
(b)  “In India, Satellite Communication is playing an important role in
different ways.” Support the statement. 3
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“ gy dftEed 4, fova ® 9v9eh Ifd o1 & 8 |7 36 H9F hl TG HIT | 5

(%) ARd H AT fFd ThR A TGO o AT ITRERN 8 ? ISTEI Higd T
T | 5x1=5
HAAT

(@) oY YU FAT 8 ? I UGWU %k HRUI qAT UHTE 1 foRANTl

i | 1+2+2=5
Had NNviE faeetd = 8 2 "dd Ny faehmd <kl GehodHT o feheal 1 g&l <hl
ST HIMT | 1+2+2=5
Qus &
(wmAters-snefa a9)

YRa % fqu U Hifae W@raEeE (98 11 W) § GEfaied ® 8@ Tl
grer iifels A&l 13U gl gra sifehd ShIfTe iR 37 9 foafaw :  5x1=5

(10.1) IN JeU § foa dasnes SsREHT |
(10.2) Wde! — did shl @M |
(10.3) 3nfesn § feuq sfedmge hl @™ |

(10.4) IT-CIU iR <hT I HTeT I |

(10.5) WAl — W8-I hl @ |
(10.6) ‘wafvim 9qds’ & 1 qad ufved g |
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SECTION D
(Long-answer Type Questions) 3Ix5=15
“ ‘Air Transport’ has brought about a connectivity revolution in the
world.” Examine the statement. 5
(a) How are industries responsible for water pollution in India ?
Explain with examples. 5x1=5
OR
(b) What is air pollution ? Analyse the causes and effects of air
pollution. 1+2+2=5
What is Sustainable Development ? Explain any two aspects of the
concept of sustainable development. 1+2+2=5
SECTION E
(Map-based Question)
On the given political outline map of India (on page 11), locate and label
any five from the following geographical features with appropriate
symbols : 5x1=5
(10.1) Oil refinery located in Uttar Pradesh.
(10.2) Khetri — Copper mines.
(10.3) Bauxite mines located in Odisha.
(10.4) Northern terminal station of the North-South Corridor.
(10.5) Ballari — Iron-ore mines.
(10.6) Western-most metropolitan city connected by ‘Golden
Quadrilateral’.
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‘Wt IqYs’ ¥ I g¢ T qieadl HeHR 1 AW fafe | 5x1=5
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The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 10. Attempt any five questions.
(10.1) Name the oil refinery located in Uttar Pradesh.
(10.2) Name the State where Khetri copper mines are located.
(10.3) Name the place where bauxite mines are located in Odisha.
(10.4) Name the northern terminal station of the North-South Corridor.
(10.5) Name any one place where iron-ore mines are located in
Karnataka.
(10.6) Name the western-most metropolitan city connected by ‘Golden
Quadrilateral’. 5x1=5
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U9 E. 10k ﬁm For question no. 10

Pl WA T {@T-AHE (TTHeR)
Y L o= Outline Map of India (Political)

km Scale 1:15000,000 km
100500 100 200 300 400 500
[ — " —
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